
0

100%

20%

19

32

2009/09
GA9020R

45

15

8

41

42

48

49

7

38

6

35

34

9

39

44

18

3

33

10

40

43

1
4

2

17

16

27

11

12

13

14

20

21

5

37

36

50

51

22

23

26

30

31

25

29

28

47



Model  GA9020R

Art nr Tek nr Omschrijving Art nr Tek nr Omschrijving                                   1/1
419133-4 1 DRUKKNOP GA7020 122891-0 47 BESCHERMKAP GA9030R
233292-8 2 DRUKVEER 12 9067 ETC 213017-6 47 O-RING 6 GA9030R
266373-3 3 SCHROEF 5X35 GA7020 265198-2 47 SCHROEF GA9030R
419144-9 4 BUFFER GA7020 192227-7 48 SUPER BINNENFLENS
154685-5 5 TANDWIELHUIS GA7020 224554-5 49 SLUITMOER M14X45 SW35
262118-7 5 VILTRING 18 GA7020 233946-7 50 BORGRING 15 GA7020R
252194-9 6 MOER M8 GA7020 819357-6 51 LABEL, TRANSPARANT
227490-4 7 TANDWIEL 12 GA9040S
211132-0 8 KOGELLAGER 6301
262085-6 9 RUBBER RING 38 9049SF
267299-2 10 SLUITRING 20 GA7020
962211-4 11 BORGRING R-42
240081-4 12 WAAIER 80 GA7020
510125-7 13 ANKER ASS'Y 220V GA7020R
681630-2 14 ISOLATIERING
211087-9 15 KOGELLAGER 6200DW
419135-0 16 TUSSENPLAAT GA7020
526214-8 17 VELD 220-240V GA7020R
654197-3 17 STATORVEER 9079SF
654502-4 17 KLEMBUS 2MM TBV STAT.VEER
266329-6 18 TAPSCHROEF 5X60MM GA7020
154671-6 19 MOTORHUIS GA7020
643712-8 19 KOOLBORSTELHOUDER 9079SF
643700-5 20 KOOLBORSTELHOUDERDOP
191957-7 21 KOOLBORSTEL SET CB-204
867513-2 22 LABEL "GA9020R"
631944-9 23 TOERENREGELCIRCUIT GA7020R
650107-8 25 SCHAKELAAR TG08-2300 GA9030R
645088-9 26 CONDENSATOR GA7020
188844-9 27 HANDGREEPSET GA9020R
423404-3 27 SPONSRUBBER GA7020R
451488-1 27 LENS GA7020R
266385-6 28 TAPSCHROEF 4X14 GA7020
687169-3 29 TREKONTLASTER HP1621
P-12924 30 NETSNOER 2X1.00 3MTR
682560-0 31 KABELTULE 10
188844-9 32 HANDGREEPSET GA9020R
423404-3 32 SPONSRUBBER GA7020R
451488-1 32 LENS GA7020R
266374-1 33 TAPSCHROEF 4X25 GA7020
213062-1 34 O-RING 9 GA-SERIE
256491-5 35 KRAAGPIN 5 GA7020
263002-9 36 RUBBER PEN 4 6413
211061-7 37 KOGELLAGER   6000LLB         A
227491-2 38 TANDWIEL 53A GA9020S
265120-9 39 KRUISKOPSCHROEF M5X16 GA7020
285724-1 40 LAGERBORGING 50 GA7020
211278-2 41 KOGELLAGER 6203
213760-7 42 O-RING 78 HR2010
318377-2 43 LAGERHUIS GA9030R
265541-5 44 INBUSBOUT M6 GA7020
158206-5 45 AS CPL GA7020R
345629-8 45 SCHOTELRING 25 GA7020


